Name Geometry
Date Period Unit 6 Practice Test

1. If £14 = /6 can be used to show that two lines are parallel,

(a) Name the parallel lines
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(b) State the theorem
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2.  The measures of one angle of a parallelogram is 50°. at are the measures of the
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3. The diagonals of a rhombus are 30 and 16.

(a) Find the measure of a side of the rhombus.
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(b) Find the perimeter of the rhombus.
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4. In the accompanying diagram, PQRS is a thombus with diagonails PR and SQ.
If m£1 = 40°, find the m ZPQR.
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5. ABCD is an jsosceles trapezoid with —A—B" CD and AD=BC.
FindmZland m£2.
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6. What is the perimeter of a square whose diagonal measures 11 V22
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Questions 7 and 8 refer to the following diagram. ABCD is(a rectangle with diagonals AC

and BD.
7. If AC =8x—-6and DB = 7x -2, find the value of x. D : c
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10. In the diagram below, point G is the centroid of AACE. If BE = 4x=Tan =X+ 2,
Find x and the length of GE. A
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11. Which is an exa adrilateral whose diagonals are congruen’r bu’r do no’r blsec’r

each othere
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12. Given: m £ ABC

a. Using a compass and straight edge, construct a 30 degree angle.
b. Construct a 15 degree angle.

13. In the diagram below, PQRS is a frapezoid with SR " PQ. TU is the median. IfSR=5x+ 1,

PQ =3x-5, and TU = x + 4, what is the length of SR 2 95”" R
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14. Given: ABCD is a parallelogram
FG bisects DB

Prove: FE=EG
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16. The measures of the interior and exterior angles of a polygon are in a ratio of 4 : 5. What is
the measure of the interior angle?g
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17. If two supplementary angles have a ratio of 9:11, find the measure of the smaller angle.
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18. If AD| BC, DC | AB, and AC=DB determine which quadrilateral(s) D C

can be proveng Explain.
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19. True or False:

a. Every square is a rectangle. " TRME
b. Every parallelogram is a frapezoid TR2UWE

c. Every rectangle is a square. T:A\ SE
d. Every isosceles frapezoid is a rec’rongle.'FR| SE




20. Which of the following is a correct method of proving a figure is a rhombus.

If a quad has 2 pairs of opposite sides parallel and congruent diagonals, then it is a
rhombus. — Reaanrg\e.

If a quad has one pair of opposite sides parallel and congruent and 1 right angle,
then it is a rhombus. — Rv@crarn Q

f a quad has 2 pair of opposite sides coneruen’r !ond diagonals that are
perpendicular, then it is a rhombus, — -

_A41Tf a quad has 2 pair of opposite sides parallel and diagonals that bisect each
other, then it is a rhombus. — | /p Qmm

21.  Given: Rectangle ABCD with diagonal BFED, AELBD, CFLBD
Prove: AE=CF ’
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22. In the diagram below, AHIJ and AH'I'J' are graphed. Use the properties of rigid motions
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23. In the accompanying diagram, ABCD is an isosceles trapezoid with DE“CB. Find the

measure of ZEBC if m£ZADE= 50. Explain your reasoning.
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